%lﬁ#ﬂ:iﬁﬁzﬁ'ﬁ%& HATRAMD  ME IE( M )E B )
L 0149857149857 ... —0.149857 __6xV3 _ 6V3
7_0142857142857 0.142857 B L= NN =2J3
N 9 B V3-2 _ J/3-2
@) x=051 <, @ A B raE 2 (Y32
x= 0.545454.--- © =2—./3
B ot (V6 +v2)v/6 —2) (V6):=(2)?
B 8—4J3
54 6 = =23
LT =99 =11 7 4
)
2 x=2136 <, 1 1 1
10x= 21363636 D L) A= =5 T3
1000x = 2136.363636 - ® 5 J5 J5
@—O 75 1000x—10x=2115 NN NN NN
990x=2115 _ﬁ_ﬁ_ﬁ_&/ﬁ—Bf—Zﬁ
FoT _ 215 _ 47 5 10 15 30
990 ~ 22 5
=3
SIS 9 pxe WB-IE-D _(/5+DW5+3)
G mm s , WVEHUWE—D (535 +3
(3) HEE -2, 0, 3, —g. 5 012, 08 _(WB)—5—3/5+3 (J/5)243/5 +4/5+3
@) mEEIT V2, 7 (V) -1* (V5)2 =3
_8-4/5 _8+4V5 _, oo
@ ELL RN DIED 4 —4
AR V2 XAJZ =2 LR | ATHTECHBH D, 2 SOHE =4
e PR 7 7 ZaUn ()
kmﬁbi”ﬁ% 5 EERBAR (1) 2K (a+b+c)i?=a’+b%+c?+2ab+2bc+2ca % T
G](1) |—25= 2) |2|—| 7=2—-7=-5 HR=(2)+(/3)+(5)2+2/2 /3 +2/3 /5 +2/5/2
(3) 1—4<0 THBHNEH  |r—4=—(r—4)=4—= =2+3+5+2/6 +2/15 +2,/10
=104+26 +210 +2/15
[61(1) 5D FHRE2FS DL B5ICRDETHLNE /5 @ H={v2 +(/3 =VBNV2 —(/3 —=/5)}
@ V3 =3, V(-3 =0 =3 =3 =(V2)*~ (V3 =5 =2—(3-2/15 +5)
=—6+2/15
@ V2VT J =14
z_1 : 1+5 —/6
2 JE- - ;
@ r 24 2 Ee (1+v5)+ V6 H(1++/5)—- /61
@) Hk=2J7-3J7 +2J7 = 2 3+2f JT __ 1458 _ 1+/5-F
(4) —SI—ZI (443 =3V/5) 1+ =(V6)? (1425 +5)—
=33 -2\5 —44/3 +3/5 _ 1456 _ (145 —V6)V/5
=(3—4)/3 +(—2+3)/5 25 24/5)?
=—V/3+5 _5+4/5 =30
X=2V2-4/2 +2V2 -5/3 —/3 -4y2 - /3 -5\/3 - 10

=8-2+10/6 —4./6 —5-3
=14+6J6
H=(W7)"-(V/3)*=7-3=4

K=(2v3)"=2-2/3 -3v/2 +(3/2)?
=4.3-12/6 +9-2
=30—126

K=(2v5 +/3)(v/5 —3V3)
=2-(v/5)"=24/5 -3/3 +4/34/5 —=3-(/3)?
=10—6415 +/15 —9
=1-515




BEIlE sxrRg2mEy HAFALQ  ME

I F£( ) )& Bwi(

@
W) x OHREEELS b
1 V5 +2
V5 -2 (/5 -2)/5+2)
_ 542
“sror VP
Y DS AT S &
_ 1 52
YT B2 (V5 +2W5 -2
J5 — 2
_ V=2 5oy
W

X+ y=

xX=

f+2 (/5 —2)=2/5
=(/5 +2)(/5 —2)=(/5)?—22=1
B3 x y%ﬂ’b%i’lﬂ) SREHEBLETIS, BEbIC x4y &
HLTHEW, 8k d,

SRR AVE =2 L V5 +2 ThoE0b, By L A RNE
BYLEN Db TH D,
<m 224 y2=(x+ )2 —2xy=(2/5)*—2-1=18

N

el 1 _ 2++/3 __2+V/3
2—3  (2=3)2+3) 2°—(/3)?
=2+.3
1<J/3 <2 ThrNb

Lo T a=3
b=2+4+3)—a=(2+/3)-3=J3 -1

a+20+0b2+1=3+2/3 —1)+(/3 —=1)*+1
=3+2/3 —2+(v/3)"—2/3 +1+1

=6
a+2b+b24+1=a+(b+12=3+(/3 —1+1)?
=3+(/3)*=6

T GReyBIDFET =T 4T =3 +1
2 5= JBII-2/3Z =y3—yT

3<2+4/3 <4

2




